julia> R16=rand(10,10)
10x10 Matrix{Float64}:
.195913 0.221536
.21155 0.327569
.657984 0.84527
.923268 0.777922
.00771684 0.846096
.382188 0.577925
0
0
0
0

.123329
.980772
.918299
.832054
.421965
.388981
.230561
.18233

.482785
.53225

.282942 .455429
.0722493 .522395
.0186169 .512767
.798341 .78788

.218007 .71076

.493099 .416712
.83717 .1258

.534912 .903102
.32306 .270413
.32845 .840261

.290013 .100249
.665663 .778672
.683753 .844825
.00795036 .888788

0
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0
0
0
0
0
0
0
0
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julia> x=ones(10);
julia> b=R10*x;

julia> xapp=R10\b

10-element Vector{Float64}: éjulia> using LinearAlgebra

0.9999999999999971 |
1.000000000000138 iulia> cond(R10)
0.9999999999997571 7844 480384629356
0.9999999999999848 ;
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julia> B=R10O'*R10
10x10 Matrix{Float64}:
2.50942 2.74663 2.27¢

julia> xn=rand(10); xn=xn/norm(xn)
for n=1:10
yn=B*xn
println("Bxn dot xn =",yn'*xn)
xn=yn/norm(yn)

=18.52256108072416

=24.008495914440637
=24.013025101802683
=24.013037116851983
=24.013037202622314
=24.013037203375166
=24.013037203381977
=24.013037203382044
=24.01303720338204

=24.013037203382037

julia> sqrt(24.013037203382037)
4.900309908912092

julia> norm(R10)
5.49744590533285

ulia> opnorm(R10)
4.900309908912093




